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Dt & — 0.05 — PA-1000
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w15 0.04 0.05 — PA-1000
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4/23(K)EEN  |QEEALAI — 0.06 — PA-1000
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ibis 0. 09 0. 09 — PA-1000
Dt v ED — 0. 08 — PA-1000
7/8(R)EN |QERELA — 0. 08 — PA-1000
ibis 0. 10 0.10 — PA-1000
Dt v ED — 0. 07 — PA-1000
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QB REL A — 0. 09 — PA-1000
Ot ER (1) — 0. 09 — PA-1000
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2712(0) £ |OEEEALAI — 0. 09 — PA-1000
1F2<KLE (BN — 0. 11 0. 09 PA-1000
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1.7230K) B |Omis 0.17 0.17 — PA-1000
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2F538H# (BRN) — 0. 07 0. 08 PA-1000
Ot ehInER (L) — 0. 08 — PA-1000
1079(:K) £ |15 0. 10 0. 11 — PA-1000
QEEALA — 0. 11 — PA-1000
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Ot ehLER (L) 0. 11 0. 11 — PA-1000
3/140Kk) Eh |Omis 0. 10 0.13 — PA-1000
QEEALA 0. 15 0.14 — PA-1000
2 1a(K) B 1F%%~(EW) — 0. 08 0. 09 PA-1000
2FEKS (BMA) — 0. 09 0. 09 PA-1000
Ot ehInER (L) — 0. 11 0. 11 PA-1000
2/79(K) Bh |Qmis 0. 10 0.13 — PA-1000
QEEALA — 0.13 — PA-1000
180K Bh 1F2<LL(BW) — 0. 08 0. 09 PA-1000
2FED(BA) — 0. 10 0. 10 PA-1000
" Ot ehnER (L) — 0.16 0. 15 PA-1000
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8. 240K) B Bt ER (L) — 0. 15 0. 15 PA-1000
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8 170K) Bh Bt ER (L) — 0. 16 0. 14 PA-1000
15 0.10 — — PA-1000
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